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And let the master say; — NP SIUY SIUR M KA
the argument is from an 1y to an %y

OVERVIEW

The X n3 cites a mwn regarding one who picks X5 and is 72 it for a poor
person. X" maintains that the *1v acquires it, while the 1127 maintain he must
give to the first 1¥ who comes along. X7 explained that the 71w is in a case
where an WY (a rich man who is not eligible to be X5 71p) was 72T to a
poor man. X"1 maintains that we say W twice' and the 1121 maintain that we
do not say 1 twice. 1"1 asked X7 why do you not interpret that 71wn» in a
case where an 1y picked and was 77211 the 7Xd to another "1v. Our MBOIN
explains what would be the np17rn between 11271 X" in a case of *1v7 "1vn.

mooIN explains that when 1" said NPY?n7 197 *197 1 819, he meant -
— 131 DyLH XY ZDIINNY ANY DIPN 2N H¥aY DN 1PIN

that X" and the 1127 will argue regarding the ruling of a 2yp»2 n''va% o0
2o nRY 2w, whether or not he is 7127, but not concerning %,

mooIn responds to an anticipated question:4
— *y9%an 37 XY 195207 NNOKN NN 7D )INI 29 190 9INPT XTON 29 NNT

For X701 29, who concurs with 3%2m1 29 shortly and they both maintain that

if one picks up a lost article for his friend, his friend does not acquire it;
this same 11" -

" The rich man could be 791 his assets and become an °1y, and 797277 "1 %37 PWHIY 2317 1A,

? K% anw Dpna n"'va 0o (seizing for a creditor when it is harmful to others), is referring to a case
where an outside party seizes the assets of a debtor (717) on behalf of the creditor (m%n), when this Mm% owes
money to another 777 as well, and this second 7791 will now have no assets from which to collect his debt.
Either creditor is entitled to seize the assets of the debtor, since he owes him the money; the issue is
whether an outside party has the right to seize the debtor’s assets; thus causing a loss to the other creditor.

? This is referring to the 71125 21 31 Pwo1> *21 ("2 °X7) Wn. This NMDON is negating *"w1d who explains that
the npY7nn between 13271 X" is whether we say 1 (and the 1y is 71p; the view of X"7) or we do not say 1
(and the "1y is not 11p; the view of the 1127). However both (71271 X"9) agree (according to ") that
where there is no 7°wo1% *31 *¥a °X7 % (as by 191 n"va% oo1n7) he is not 1P, However nvoin disagrees and
contends that X"9 maintains that the v is 711, for XY anWw DpPna 1"yah 09I is 1P even when there is
no 1.

* am1 21 is asking X9W to interpret the 73wn in a case of *1w *wn. However 1"1 maintains that "mw»anana
is not 711%p; why would 1"7 want to interpret that npY2n» between 3327 X" in such a manner where X" will
maintain that 73p 1"v2% 09107 (as NN maintains) which contradicts the view of 1". It would seemingly be
better to interpret the 71wn concerning 1 (as *"w explains) but all agree that 7p X7 n"'va? oo,

> This means that both "1 1" maintain that we do not (even) say w12 *17 1%, and certainly that 99107
n"vaY is 7P X9, and nevertheless "1 maintains that the np12m» between 11271 X" is regarding 17"'v2% 0907,
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— %11 BYLN X9 2IN HYAY DN 19T (owr 2,0 97 PVINT KNP P9 1Y TN
Maintains in the first P92 of v noon that the X" 7127 argue concerning

217 Y2 o210, but not concerning 3%, He maintained it -
:7’)’53 NN NITT NI 29 N9 INTT 1Y

Until 852 21 rejected this explanation and said, ‘perhaps the X"71 7127 are
arguing concerning ».’

SUMMARY
1" insisted that the np1>nn between 7327 X" is whether we assume 0910
n"vaY is, or is not, nNp. However all agree that we do not say w517 °317 11
°92n "1 T,

THINKING IT OVER

1. mpoIn explains how we can understand that 1"7 (who agrees with 11"7 and)
who maintains that 17°217 73p X% 177207 AX°%7 7192377 (which indicates that we
must maintain 73 &7 121 1"'va% 09107), can nevertheless argue that the np17mn
between 11271 X"9 is whether or not 121 1"va% 091077 is 732 or not (for 1"
actually explained it so®). However no1n (seemingly) does not explain why
is it necessary for 1" to maintain that the npYonn is in 1"'va? 0910 (where 1"
maintains that it is 7P &9), instead of explaining that the npyorn is
concerning whether we say w912 °317 2 (as *"w1 explains). What is the
advantage of interpreting the np1omn that they argue regarding n"va» oomn?!°

2. Why is it necessary for maoin to conclude "1 5" % 177 79'?'° Does that
add anything in our understanding of m»o1n?

% See “Thinking it over’ # 1.

7 See “Thinking it over # 2.

¥ See footnote # 6.

? See "X # 69 and 1 MK (710) 7"0.
1 See footnote # 7.
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